
  

GACB-2

GACB-2 on Wyr-Grid Pathway

Wyr-Grid
Pathway

GACB-2

GACB-3

Wyr-Grid
Pathway

GACB-3

GACB-3 on Wyr-Grid Pathway

#12-24 Mounting
Screw
45 lbf-in

[5.08 N.m]

#12-24 Mounting
Screw

45 lbf-in
[5.08 N.m]

Telecommunications Equipment
Bonding Conductors (TEBC)

Use GACBJ618U to bond
Wyr-Grid system to ground bar

Telecommunications Equipment
Bonding Conductors (TEBC)

Use GACBJ618U to bond
Wyr-Grid system to ground bar

2 Hole, Slotted 1/4" Stud
1/2" - 5/8" Spacing

Two Cable Tie
Mounting Options
(Cable Ties not included)

#12-24 Screws
(not included)

Paint Piercing
Teeth

BRACKET MUST REST AGAINST
WYR-GRID CROSS-WIRE

BRACKET TEETH MUST MAKE
CONTACT WITH WYR-GRID WIRE

BRACKET MUST REST AGAINST
WYR-GRID CROSS-WIRE

BRACKET TEETH MUST MAKE
CONTACT WITH WYR-GRID WIRE

GROUNDING AUXILIARY CABLE BRACKET
PART NUMBERS:  GACB-2, GACB-3

For Technical Support:   www.panduit.com/resources/install_maintain.asp

Page 1 of 2

INSTALLATION INSTRUCTIONS                                                                       T-PMPI-299-PCPanduit Corp. 2011C

GACBJ68U
GACBJ612U
GACBJ618U

8" LENGTH
12" LENGTH
18" LENGTH

#6 AWG PRE-TERMINATED JUMPERS

1

2
2

1

3

3



GACB-2 on LADDER RACK

Ladder Rack

GACB-2

GACB-3 on LADDER RACK

Ladder Rack

GACB-3

#12-24 Mounting
Screw

45 lbf-in
[5.08 N.m]

LADDER RACK SPECS.

WIDTH =  3/8"
HEIGHT = 1-1/2" - 2"
MAX. PAINT THICKNESS = .0040"
SOLID OR TUBE

45 lbf-in
[5.08 N.m]

#12-24 Mounting
Screw

TEBC

Bond Sections Together
using GACBJ68U, GACBJ612U,
OR GACBJ618U

Use GACBJ618U to bond ladder rack
system to ground bar

TEBC

Bond Sections Together
using GACBJ68U, GACBJ612U,
OR GACBJ618U

Use GACBJ618U to bond ladder rack
system to ground bar

Paint Piercing
Teeth

2 Hole, Slotted 1/4" Stud
1/2" - 5/8" Spacing

#12-24 Screws
(not included)

Two Cable Tie
Mounting Options
(Cable Ties not included)

C Panduit Corp. 2011 INSTALLATION INSTRUCTIONS                                                                       T-PMPI-299-PC

Rev 02

E-mail:
cs@panduit.com

Phone:
800-777-3300

For Instructions in Local Languages
and Technical Support:

www.panduit.com/resources/install_maintain.asp
Page 2 of 2

www.panduit.com

1 1

22

3

3


	Sheet3
	Drawing View82
	Drawing View83
	Drawing View84
	Drawing View85
	Drawing View86
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View99
	Drawing View100
	Drawing View101
	Drawing View102

	Sheet4
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View95
	Drawing View96
	Drawing View97
	Drawing View98


